
Name: _____________________________

Date: ______________

Teacher: ___________________________

Math 8
Cumulative Review # 1.8
Show work for all questions for full credit 

& write your answers on the lines provided!!! 

(If you feel no work is needed you must explain your reasoning)

	1.
	Which property is illustrated by the equation below? 

                     5(x + 2) = 5x + 10 


	 
	A.
	Associative Property of Addition 

	
	B.
	Commutative Property of Addition 

	
	C.
	Distributive Property 

	
	D.
	Multiplicative Identity 











1 ._________________________

	2.
	A pizzeria sells large pizzas for $11.50, medium pizzas for $8.75, and small pizzas for $6.50.  Suppose a scout group orders 3 large pizzas, 2 medium pizzas, and 2 small pizzas.  Which equation can be used to find the total cost of the pizzas? 

	
	A.
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	B.
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	C.
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	D.
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2 ._________________________

	3.
	For her cell phone service, Vera pays $32 a month plus $0.75 for each minute over the allowed minutes in her plan.  Vera received a bill for $47 last month.  For how many minutes did she use her phone beyond the allowed minutes  


3 ._________________________
	4.
	Lori wants to buy a new sweater that costs $45.  The sweater is on sale for 25% off and 6.75% sales tax will be applied to the purchase price.  What will be the total cost of the sweater? 



4 ._________________________

	5.
	Solve and Check 10 – 2(3x + 4) = 11           
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